E—SHEHN (FHEREBEMERR)

EANBUERINZGTES
(B) 5% 34 48 18 (¥) $% 4% 38318
(BEfiZ : M)
B T ® B FE(A) RE(B) =2(A)-(B)
NERRBEINA 440,000,000 440,520,273 -520,273
£ | RERESHESINA 3,000,000 1,850,000 1,150,000
w | 2 ZEFSECLRUNA 300,000 100,064 199,936
- ZDABDUA 7,100,000 1,800,807 5,299,193
% BEEHINAGT(L) 450,400,000 444,271,144 6,128,856
- AFBEZH 302,000,000 303,750,213 -1,750,213
x BEETH 65,000,000 58,202,168 6,797,832
= X |BBEXH 55,950,000 50,551,724 5,398,276
uy el TN = 1,700,000 1,119,226 580,774
= ZDMDZ 1,000,000 976,703 23,297
BEEHTHEN(2) 425,650,000 414,600,034 11,049,966
EETHERINTELA(3)=(1)-(2) 24,750,000 29,671,110 -4,921,110
M| W |BEEEESTAIUNA 11,000 -11,000
#=| A MEEREABEEUNAGT(4) 11,000 -11,000
2 HEESEASTREESRH 14,700,000 19,250,000 -4,550,000
1 EEEEIESRH 3,855,048 -3,855,048
i %
N H
)
X MEES R RS ST HET(5) 14,700,000 23,105,048 -8,405,048
B3 MR RS E RN E58(6)=(4)-(5) -14,700,000 -23,094,048 8,394,048
z I3 RHAS(TSEININA 1,200,000 -1,200,000
D Eava=1:3:GETON 1,214,321 -1,214,321
i ZDABDEENC K BURAEH(7) 2,414,321 -2,414,321
) EHEMERH 1,367,500 -1,367,500
b T EESH 1,726,944 -1,726,944
V=
5 H
3
N ZDMDEENZHIET(8) 3,094,444 -3,094,444
b3 ZDMDEENERINZ Z=5A(9)=(7)-(8) -680,123 680,123
FiEZH(10)
LHAEDINT ERESEH(11)=(3)+(6)+(9)-(10) 10,050,000 5,896,939 4,153,061
AR TIAEREE(12) 168,221,822 -168,221,822
LIRS INERES(11)+(12) 10,050,000 174,118,761 -164,068,761




